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Ak
=2 % 1-mEH % 2-W3Hf % 3-mU3HA % 4-MO¥H
4R11B~7A5A8) (7TR4B~10RA10H) (10 A10B~1H16R) (RB~AH)
1 - - 130 = 13 =+
2 131 = 06 130 £ 1.0° 131 =%+ 05 *+
3 1M1 = 117 109 = 1.0 109 = 1.0 +
4 147 + 3.1% 142 = 1.0 142 =+ 15 *+
5 155 =+ 1.1% 133 £ 1.5 154 =+ 09 *+
6 119 £ 1.1% 118 =+ 0.9 118 =+ 0.97 *+
7 117 £ 167 115 =+ 3.1% 115 + 29 *+
8 132 £ 1.1* 130 = 1.0 130 %= 09 =+
9 121 = 0.6 118 =+ 1.0% 119 =+ 08* =+
10 107 = 0.6™ 105 = 0.0 106 = 1.0 *+
H 5t B 45 £ 06 45 =+ 06 46 =+ 0.6 +
4A5B~7A8H) (6 A278~10A4 17 H) (10A4B8~1H24H) (RB~AB)
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HEHMMIT4A12B8~TA4BTHS.
HEHMIT4 A 128~7 A5 BTH5,
REHEIT4 A 11 B~7TR4B8THS,
HEHMEIE 7 A5B~10 A 10 BTH%
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HEHRIX7A4B8~10A 11 BTHS,

REFREREZTLL

EEEHRIEZ 10811 B~1 B16 BTHS,
SHEHMIZ10A10A~1 A 20 BTHS,




